Section : General Awareness

Q.1 Name the Indian Space Research Organisation (ISRO) chairman and Padma Bhushan
awardee who created and unleashed a historical moment when Mars Orbiter became
the first Indian spacecraft to enter Martian orbit in a maiden attempt.

Ans X" 1. Nandan Nilekani
o 2. K Radhakrishnan
75 3. Sundar Pichai

X 4. Fali Nariman

Q.2 Which of the following metals is the most ductile metal?

Ans X' 1 Tin
( 2. Gold
x 3. Aluminium

x 4. Copper
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Q.3 Who was awarded the Rabindranath Tagore Literary Prize 2019 for the Novel 'Solo'?
Ans x 1. Nayanjyot Mukherjee

#< 2. Amitabh Ghosh
( 3. Rana Dasgupta

#< 4. Jhumpa Lahiri

Q.4 The Badami Chalukyas first had their capital at before they moved it to Badami.
Ans  of 1 Aihole

#5 2. Hubli
X 3. Bijapur

/X 4. Pattadakal

Q.5 Who founded and named the science of electromagnetism?
Ans X" 1. Michael Faraday

x 2. James Clerk
x 3. Hans Christian Oersted

J 4. Andre Marie Ampére

Q.6 Which of the following ministries implemented the Midday Meal scheme?

Ans x 1. Ministry of Social Justice and Empowerment
X 2. Ministry of Social Welfare
J 3. Ministry of Human Resource Development

X 4. Ministry of Home Affairs

Q.7 In February 2019, India won gold medal/s and five silver medals at the Makran
Cup Boxing in Chabahar, Iran.

Ans x 1. three

X 2. four
( 3. one
X 4. two
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Q.8

Ans

was the first Muslim ruler whose empire covered almost the whole of India

up to its extreme south.

75 1. Jalal-ud-din Khili
/X 2. Ghiyas ud din Balban
o 3. Alauddin Khilj

x 4. Feroz Shah Tughlaq

Ans

Q.9 What is deposited on iron in the process of galvanisation?

X 1. Tin

o 2. Zinc

75 3. Copper
75 4. Aluminium

Ans

Q.10 Who among the following was a slave of Muhammad Ghori? He became the ruler after
the death of his master and founded the Slave Dynasty.

o 1. Qutub-ud-din Aibak

/X 2. litutmish

75 3. Ghiyas ud din Balban

/X 4. Nasir-ud-din Mahmud

Ans

Q.11 In February 2019,

won a gold medal at the Makran Cup in Chabahar, Iran.

J 1. Deepak Singh
X 2. Satish Kumar
75 3. Rohit Tokas

#< 4. Manish Kaushik

Ans

Q.12 Which of the following does NOT come under the Quarternary sector?

X 1. Manufacturing

75 2. Mining

x 3. Fisheries
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( 4. Information Technology

Q.13 The colourful art named Nandna block print, which uses graceful yet aligned
arrangements of motifs on fabric, is practised in Tarapur village of

Ans  off 1. Madhya Pradesh
X 2. Maharashtra
x 3. Uttarakhand
75 4. Odisha

Q.14 Where is the Bandipur National Park located?
Ans X" 1. Sikkim

( 2. Karnataka

x 3. Kerala

x 4. Gujarat

Q.15 Right to move freely throughout the territory of India’ is a fundamental right under
of the Constitution of India.

Ans X" 1 Article 24
75 2. Article 14
/X 3. Article 21
o 4. Article 19

Q.16 Which Indian received the Nobel Peace Prize after Mother Teresa?
Ans X" 1. K Radhakrishnan

o 2. Kailash Satyarthi
X 3. P Sathasivam
x 4. Fali Nariman

Q.17 Which of the following destroys the ozone layer?
Ans
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#< 1. Carbon
J 2. Chlorine
75 3. Silicon

X 4. Sulphur

Q.18 International Day of Forests 2019 was observed on 21st March with the theme
to raise awareness on how sustainably managed forests provide a wide array of
contributions.

Ans X' 1. Pollution-free Forests'
x 2. Forests Our Saviour'
x 3. Forests and Environment'

J 4. Forests and Education’

Q.19 World ___ Day 2019 was observed on 22nd March with the theme ‘Leaving no one
behind’ to focus on marginalised groups.

Ans x 1. Environment

X 2. Forest

X 3. Petroleum

J 4. Water

Q.20 Which is the longest national highway in India?
Ans x 1. National Highway 48

x 2. National Highway 27
J 3. National Highway 44

x 4. National Highway 53

Q.21 , which connects Sikkim with Tibet, was closed after the Chinese aggression
on India in 1962 but was reopened in 2006 as the governments of the two countries
decided to enhance their trade through land routes.

Ans x 1. Lanak La

X 2. Imis La

X 3. Pensi La

J 4. Nathu La
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Q.22 Lok Adalats have been created under

Ans X" 1. Arbitration and Conciliation Act
x 2. Administration of Justice Act
x 3. Legal Conciliation Act

“ 4. Legal Services Authority Act

Q.23 Which was the first Muslim dynasty that ruled India?
Ans X" 1. Khilji dynasty

75 2. Tughlaq dynasty
x 3. Lodhi dynasty

( 4. Slave dynasty

Q.24 The popular Bagh cave paintings are found in
Ans X" 1. Sikkim

« 2. Madhya Pradesh
X 3. Himachal Pradesh

/X 4. Odisha

Q.25 Which of the following metals is the most reactive metal?
Ans X" 1 Zinc

x 2. Copper
x 3. Iron
“ 4. Calcium
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Section : English Comprehension

Q.1 Select the most appropriate word to fill in the blank.

There is hope that better forestry management will help in the of the wild life
that is constantly facing threat because of increasing human activities.

Ans X" 1. salvation
x 2. supervision
x 3. guarding
J 4. conservation

Q.2 Select the antonym of the given word.

AGONY
Ans x 1. misery

x 2. distress
X 3. anxiety
J 4. comfort

Q.3 Select the word which means the same as the group of words given.

an enclosure to keep the birds in
Ans  of 1 aviary

x 2. apiary
x 3. stable

X 4. sanctuary

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
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Pigeon racing has become increasingly popular in parts of China (1) the country's elite
and its middle class. Sun Yan, the deputy general-secretary of Beijing Racing Pigeons
Association,(2) that at least 100,000 pigeon breeders live in Beijing, and (3)

90,000 of them are registered with Racing Pigeons Associations at (4) levels, to
qualify for the games held in the spring and autumn. Competitions can be lucrative for

(5) owners, with some prizes amounting to tens of thousands of dollars. Liu said in
recent years, pigeon racing has been surging in popularity across China.

SubQuestion No : 4

Q.4 Select the most appropriate option for blank No. 1.
Ans K 1. along
x 2. about
K 3. against
( 4. among
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Pigeon racing has become increasingly popular in parts of China (1) the country's elite
and its middle class. Sun Yan, the deputy general-secretary of Beijing Racing Pigeons
Association,(2) that at least 100,000 pigeon breeders live in Beijing, and (3)
90,000 of them are registered with Racing Pigeons Associations at (4) levels, to
qualify for the games held in the spring and autumn. Competitions can be lucrative for
(5) owners, with some prizes amounting to tens of thousands of dollars. Liu said in
recent years, pigeon racing has been surging in popularity across China.
SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 2.
Ans X" 1 told
o 2. said
x 3. advised
75 4. clarified
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Pigeon racing has become increasingly popular in parts of China (1) the country's elite
and its middle class. Sun Yan, the deputy general-secretary of Beijing Racing Pigeons
Association,(2) that at least 100,000 pigeon breeders live in Beijing, and (3)
90,000 of them are registered with Racing Pigeons Associations at (4) levels, to
qualify for the games held in the spring and autumn. Competitions can be lucrative for
(5) owners, with some prizes amounting to tens of thousands of dollars. Liu said in
recent years, pigeon racing has been surging in popularity across China.
SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 3.
Ans X" 1. utmost

x 2. nearby
x 3. exact
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of 4. aimost

Q.7

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Pigeon racing has become increasingly popular in parts of China (1) the country's elite
and its middle class. Sun Yan, the deputy general-secretary of Beijing Racing Pigeons
Association,(2) that at least 100,000 pigeon breeders live in Beijing, and (3)

90,000 of them are registered with Racing Pigeons Associations at (4) levels, to
qualify for the games held in the spring and autumn. Competitions can be lucrative for

(5) owners, with some prizes amounting to tens of thousands of dollars. Liu said in
recent years, pigeon racing has been surging in popularity across China.

SubQuestion No : 7
Select the most appropriate option for blank No. 4.

Ans “ 1. different
/X 2. differential
x 3. differed
X 4. differ
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
Pigeon racing has become increasingly popular in parts of China (1) the country's elite
and its middle class. Sun Yan, the deputy general-secretary of Beijing Racing Pigeons
Association,(2) that at least 100,000 pigeon breeders live in Beijing, and (3)
90,000 of them are registered with Racing Pigeons Associations at (4) levels, to
qualify for the games held in the spring and autumn. Competitions can be lucrative for
(5) owners, with some prizes amounting to tens of thousands of dollars. Liu said in
recent years, pigeon racing has been surging in popularity across China.
SubQuestion No : 8
Q.8 Select the most appropriate option for blank No. 5.
Ans  of 1 bird
75 2. birds
x 3. animal
x 4. pigeons
Q.9 Select the wrongly spelt word.
Ans

x 1. controversial

x 2. conquer

X 3. cooperation

« 4. contamporary
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Q.10 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Around 600 million of them live in areas of high to extreme water stress.

B. India is suffering from the worst water crisis, with one billion people living in water
scarcity.

C. This is even more than that of China and US combined.

D. The reason is that at 24 per cent, India uses the most groundwater drawn out
globally.

Ans  of 1 BADC
/X 2.BDAC
/5 3.ADCB
/X 4.ACBD

Q.11 Select the word which means the same as the group of words given.

An inscription on a tombstone written in memory of the deceased
Ans X 1. pillar

J 2. epitaph
/X 3. basilica
/X 4.slab

Q.12 Select the most appropriate meaning of the given idiom.

pull yourself together
Ans x 1. go to sleep

X 2. try to understand
x 3. do a good job

( 4. calm down

Q.13 Select the wrongly spelt word.
Ans « 1. expereince

X 2. explain
x 3. expire
x 4. except
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Q.14 Select the antonym of the given word.

EMINENT
Ans X" 1. distinguished

x 2. exalted
x 3. impressive

“ 4. inconspicuous

Q.15 In the sentence identify the segment which contains the grammatical error.

Cyclone Idai is regarded as one of the worst tropical cyclone on record to affect Africa
and the Southern Hemisphere as a whole.

Ans X" 1. Cyclone Idai is regarded
x 2. as awhole
X 3. to affect Africa

“ 4. the worst tropical cyclone

Q.16 Select the synonym of the given word.
INDELIBLE
Ans X" 1. illegal
x 2. ineffective

“ 3. inerasable

75 4. illegible

Q.17 Select the correct active form of the given sentence.

Their children were brought up with great care.

Ans “ 1. They brought up their children with great care.

x 2. Their children brought them up with great care.
x 3. They have been bringing up their children with great care.

X 4. They had brought up their children with great care.
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Q.18 Select the most appropriate word to fill in the blank.

The burning of the effigy of Ravana on Dussehra
Ans X" 1. epitomizes

X 2. personifies
x 3. intensifies

( 4. symbolizes

the burning of all evils.

| try to solve this problem at least for two hours.

Ans J 1. have been trying to solve
x 2. tried to be solving
x 3. am try to solve

x 4. No improvement

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

Q.20 Select the correct passive form of the given sentence.

At night, lock the outer gate.
Ans x 1. The outer gate is locked at night.

X 2. The outer gate be locked at night.
x 3. The outer gate is requested to be locked at night.

( 4. Let the outer gate be locked at night.

give someone the cold shoulder

Ans X 1. do something pointless
J 2. ignore someone
X 3. pamper someone

x 4. give away a secret

Q.21 Select the most appropriate meaning of the given idiom.

Ans

Q.22 In the sentence identify the segment which contains the grammatical error.

Every employee of the company were given a two bedroom flat as Diwali bonus.
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( 1. were given
X 2. Every employee
x 3. as Diwali bonus

X 4. a two bedroom flat

Q.23 Select the synonym of the given word.

TRIUMPH
Ans X" 1 peace

x 2. attack
/< 3. fight
( 4. victory

Q.24 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Mango, the so-called "king of fruits", is something of a national obsession in India.
B. There was a bumper crop of mangoes in different states.

C. It resulted in prices coming down and sales going up — much to the delight of
buyers and sellers alike.

D. 2017 proved to be a very good year for mango lovers.

Ans X' 1. CADB

/5 2.CDAB
75 3.ADCB
o 4. ADBC

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

If you listen to the English news, it improve your English.
Ans " 1. No improvement

( 2. it will improve
x 3. itimproved

X 4. it is improving
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Section : General Intelligence and Reasoning

Q.1 Haleerthe seeinwhizh the wambers are relaed on the saene s 2 ars che eonhare of Hie fallewing sar

(812,24

Ans 1. (12, 20, 40)
X 2 (9,18, 27)
W3 (6.9, 18)
X 4. (6,10, 18)

Q.2 ihmaulile flllkv.n.'h! Freor moniew b mree slikas oo g covain e sz lapas =il . sk e =nodna thel s = Tored
T i e
Ans X 1. 65

X2 217
< 3 28
W 4 338

Q3 which number will replace the question mark {7) i the following series?

98, 95, 86, 82, 66, 7, 36
Ans x1_ 38

< 2 63

V'3 61

< 4 60

Q.4 hreeof rhe fllomesg fourveands ars aldoes inoa cernin waz and ane is differser. Pick the odd weard cor.

Ans X" 1. Mahanadi



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


< 2. Godavari
#< 3. Krishna
« 4 Tapti

Q.5 v lengege, T0PTTER Bowr b a0 G TRPRATLL Hae w0 Tea CGHTRR L sesibion o e enes: langroaan?

Ans X 1. ADTHREGU
& 2. ADERUGTH
' 3 ADREGUTH
& 4 READTHGU

Q.6 Tlezzuaguasrre nl kg v ez ol apuee gegzer il X el Yol ibe e ineadich e kil ziper ik
arr i laure T ooge shoon. Blomr will e peooer aopear whien nedsida 47

: b
ki ¥ :
Ans ~o "
Ko v o
o o
§ vu Q
X219 o
AOO
-~
Ppre ,
o
v &) :
oo
o [
< 4 By =
aﬂ

Q7 T1f{AR iz eoded az ¢ and BED is coded az 40, then how will HAD be coded as?
Ans X 1. 52

<2 46

Vs 32

X416
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Q.8 Lwa diffsre: pocitions ofthe same dice are thows . Which zember =il be e the roo of 4 is at ihe boctam?

Ans

Q.9 solut Hez meshergain incwieh S benomoemlezs A webied b s g4es e bz inokorenl 5 el g

[y et o

7.8

Ans  of 1. 13:98
<2 12:85
K3 3:11
X4 16: 145

Q.10 salaer fra parsees moner vage ofthe given figse when the merar s placed fo rhe nglhd ef the fgirs

o

Ans
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QM Arrange the following words in a logical and meaningful order.

I Student

2. Job

3. Interview
4. Education
5. Retirement
0. Degree

Ans  off1.1,4,6,3,2. 3
X2 1,53 6,48
2$353,2,1,4,6
54.3,5,4,6,1,2

Q.12 Gcheat e vt ek iscbilod pole: Dinl vieadieds o Gaene sy sl sl el il e e Gy
IEfier-c s

BATOCAE - AT RO

Ans X' 1. EGHJ
«' > EHGJ
X 3. DHGK
< 4 GFIJ



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Q13 gelect the Venn diagram that best illustrates the relationship between the
following claszes.

Snakes, Bepiiles, Poisonous
Ans

Ko

Q.14 Terodwsmans o wican fllinead 9 s ooacdedae saalsa Gl 5D esd U Scemnioe he duanaie bl bus o
IF it meein 50 Beoal v mnce bl cacimen sean Sacts decude kel of ihe cofcmsnre bgicalb e n ey iom ihs
1 OB, [

SiTemnenis!
T oo 1 2 bt

Al =inks s szt =,

C omc bk oy
R P TrRTV ] WP Lo e
1 Yrame a=arrea e anes bk

JIE Moaniial = 8 o

Ans 3 1. Only conclusion III follows
/< 2. Only conclusions I and III follow

7< 3. None of the conclusions follows

+ 4 Conclusion IT and either conclusion I or III follows

Q.15 v niwtnes samin eilkane juiss e becalin a2 s bamal Ao WP sapnal sl e e e mishonz s mises

Tewgs e b weonlil s walioned milk o joizsing e esul irgonisions?

ARSI 1: 1
K25:3
vi3s5:4
K47:5
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Q16 How many squares are there in the following figure?

AN

N

Ans x1_ 16
v2 14
< 318
Xa 12

Q17 Select the option in which the given figure is embedded.

A/

(X)

Ans
Ko \/

¥ &)
WA
s fK;
YA
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Q18 'Cinepma” 5 related w  Audience” o the sane way as *Cligely’ i selated o
Ans X 1. Concentration
/< 2. Prayer

+ 3 Congregation

< 4. Meditation

Q.19 =alecr the 5o nwhizs the penbers are relabed ioee same vy as ave the mmbers of the fallomsng sor

15 13,12

Ans o 1. (6, 10, 8)
X 2 (11,15,9)
s (13,17, 11)
X 4 (15,19, 13)

Q.20 ilad M cenbicunnl i< il seles sepaaniially plasaat ool g el gron e s wme will soephaie e
sl

oz cab_od 6 e zi

Ans X 1. cadbe
« 2. dacbd
#< 3. dcbac
& 4 bdabc

Q.21 pzwes o the foclomsg S letes clusners ane wiks s cectain wiry and ons i dofferan. Exck the cdd ooz oul,
Ans X 1. MLNO

< 2. CBDE
v 3 FGHJ
X 4 RQST
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Q22 gelect the figure that will come next in the following figure series.

—]

()

<

VN

Tl LT T
=

"

Y

MT—?"

N ine”

v 1\(_

BLE

X 4

Q.23 Which two signs aboubd be rarchanged i tie following aquation 1o make 1T corect?

10+ 5+ 10 xB8-10 = 16
< 1. % and +
X2 +and+
< 3 +and x
v 4 —and+

Ans



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Q.24 silad il ezbjoiincahich the e ecrss an nebalal niles sane sey ace o e sennboin e el ek
i,

Apalle : Fuhsaen
Ans X 1. Treaty : Friendship
/< 2. Enrolment : Employment

' 3. Condemnation : Reverence
/< 4 War : Attack

Q.25 1ridches sl uml il madber ol Bl i nieas of Fod s B sister of Bl S o ol &2 s Boma B len

chiliren @ 2l aned a cigbees T4 S e senatF b 15 T acloned 7o 07

Ans X 1. Aunt
< 2 Sister
V' 3. Sister-in-law
#< 4. Cousin
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Section : Quantitative Aptitude

a Ifx=a+i andy=a—i then \/x* + y* — 2x%y? is equal to:

Ans 11_ 4
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Q.2 A2UD G oyshic quadalareal whess clrgaasls recses) af FOIEAE = B0, ZTRD = TI° and 2RAC — BN7 | Lzentie
mEasps of <™ o

Ans x 1. 30°
< 2. 559
v 3 500
X 4 350

Q3 ginB—cosb+1 5
sinf +cosf—1

Ans  of 1. sec® +tan 6
< 2 secO —tan b
< 3. secBtan®B
< 4 secBsin®
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1 2zar i iy

Ans X' 1. 495
K2 322
X3 573
4475

Q.5 AaalTiawe tiealling toisanhs caadvctlen Do the preinge Tl G declv Al sireing caclom b Acaal T ke
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Ans  of 1192
<2 204
<3198
<4 208

Q.6 ARCIrramapeem inahich AR TR st dispermis imesact an 2000 A2 = O L em B =S e, HE =0 LD
B vV o R W s LY | T T T =

Ans X 1. 10 cm
< 2 16 cm
< 3 14 cm
v 4 12em

Q.7 mwriabiedhoese Be pestuziien e e el e e e semppng Lo ceisamlsl in 5 peers

ST ]

oem i | & [ - [} [
daid | B i ] LH =
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ama | ) i 2] va_ |

ez e tha rnk o e fatal prectooion ot fese o oars In 20 1S raed ops D ears In 301 mises together m the 2ol
cecduciion of vrp2 B cans o 2000 and bype 2 ooans 2 2007 faken wgether!

Ans X1 13:10
X212:11
Xs311:9
vi4:3

Q.8  Ihe drmscarke = A e i e M il o 1. 07 e fresene: o7 2w e creal A Rt B O TS TR | W R ST E LT
b R, s e pRRAsIRES Lnireane i A comTine s e aane ] b

Ans x1. 70
< 2 55
v 3 60
X 4 64

Q9 py12cat®B —31coserB4+32=0,0"< §< 90", then the vahies of tan § will be:

Ans



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


. 5 4
x122
4’3
4 347
V2 Sete
3’ 7
4 547
X 20
iy
. 4 4
4, i=
X 5’3

1% The value of Vsec2@ + cosec?® X vtan?d — sin?0 is equal to:

A i

S of 1 sin@ sec?8
< 2. cosec @ cos?O
< 3 sin @ cos?0

< 4 cosecO sec?@

Q.11 A srmof LA s e o Lo poa cocspoused mbepes Wk s e cpfferease besveasn ie comporad imeren fog the
sesod wEar e rhes sdnd veve?

Ans X 1. T548
< 2. T454.88
V'3 F445.44
X 4. T544
Q.12 Theeezngee o thizlzommantar iz 500 The aoo awe ol e T Tz i b 0408 0 el ol b sl v menbea s

2235 Tue 1Y umtear 56 coors e 7o 12% pomien ad e 12 b 2 G ees o tee L3 pamhar, What 1s 1
averaze o 2 11 and e 139 prmoecs?

Ans X 1. 86.5
X2 875
V'3 87
< 4 86

Q.13 4 simeis oecnbes in AR morcaingy aBar BB O acd A0 LB 1T AS = 2 om KO = Armeasd AR = L e then
Ihet pemmaier ol RARD &
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Ans  of 1. 36 cm
< 2 37cm
< 3 40 cm
< 4 32cm

Q.14 the ekl shires Be prodos tin od G Ten (spas ol s b s eompany o St s 10 s v

Ll A i I I L b
M4 _ H) - L1 =
oL . L 3 I - —— L3 L -
L FH 43 |42 . M4 ir

- T 41 * k1l Ll E
x| i3 | ow ] W |

The cvarags ki oa ol 1900 T 2erm 41 5 s i ohiar poreant kss than die produstin nfoepe Foeads in W18
I arrann n oo deoimal DiatE

Ans X 1. 16.8
V2 186
X3 174
X 4159

Q15 yfabh + be + oo = 8 anda® + B + £ =20, then a possible value of
Sa+b+o)l(a— b7+ (b—c) + (- a)] s
Ans - X1 84
v 72
X< 3 56
< 4 80

Q.16 A iy el pn e b o Do £ 10 Dlnd B snbd Bese m i el 100, A el lever reewe st T A0 el i
12%w, b chomd 2ave cold noor

Ans X 1. T540.50
v 2 560
< 3 3537.40
< 4 T580

QA7 1§ b S-digil mumber 20745452 35 divisible by 58, then e valoe of (41 + 37) is:
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Ans x 1. 42
<2 36

< 4. 49

Q.18 tijeee & el Vlaan Dl ek o care e aned enbeoe negostivele odils pipe Dsecangdy e CRE o L oo
ot ane Bo=an muna e, S acd 7 30s Tarmsd on ropeiser a5 1 En el BT, o 05 £aossd and B s mmsd on
Bt will e ik e cogtisd?

Ans X1 11:30 a.m.
< 2. 10:30 a.m.
3 12:20 p.m.

< 4. 12:10 p.m.

Q.19 Adighigzar neiks Fie gk il 40 sl Heet ccal pree oes allisee g dieacnid ol 255 000 5 e bal i His
pmer lee saeanl it

Ans X 1. 59 loss
< 2. 10% loss
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Q.20 | bp pirme of @ el e celindcis pips s T80 i JE e denmh j2 10 = o exierrel codites 1 0 e i 0
thickosz 1ziven ¥ — ;1 15
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<2 0.8cm
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v 4 lem
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Ans ?‘(1- 5§

- 1
<2 ?;



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


1
~s 8;
3
«4- 9;
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Ans x1_ 9]°
X 2. 93¢
3 720
X 4. 59°

Q.23 1 ifxt — 27rE) + (3 = 39 = (ArE + Bxy 4+ Cv®] then the value oE(2A4+ B - C) s
Ans X1. 3

X2 4

V35

K46

Q.24 wiwnsicansactal Tt ol 00 alanla e onndios sooddaraal, o feswckes, s o poapdione Wl s

et mizin proguirtionsl e (300 17 (308 500
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Section : General Awareness

Q.1 TV remote controls work on the principle of

Ans X" 1. Bluetooth technology
« 2. Infrared waves
x 3. Ultrasonic waves

X 4. Laser technology

Q.2 A sustained rise in the general price level in an economy is called
Ans x 1. Stagflation

#< 2. Disinflation

/5 3. Deflation

o 4. Inflation

Q.3 Who founded the Indian Statistical Institute on 17 December 1931?
Ans X 1. M.H. Hansen

75 2.RA. Fischer
x 3. F. Yates
o 4. P.C. Mahalanobis

Q.4 Kala Bhavana, founded in 1919, is a noted institution of education and research in
visual arts. It is located in

Ans X" 1. Uttar Pradesh

75 2. Bihar
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£% 3. Sikkim

J 4. West Bengal

Q.5 In March 2019, who among the followings was appointed as India's first Lokpal?
Ans X" 1 Justice S A Bobde

J 2. Justice Pinaki Chandra Ghose
x 3. Justice N V Ramana

#< 4. Justice AK Sikri

Q.6 Pramod Sawant became Chief Minister of which Indian state in March, 2019?
Ans " 1. Tamil Nadu

x 2. Kerala
J 3. Goa

x 4. Maharashtra

Q.7 is the study of the microanatomy of cells, tissues and organs as seen through
a microscope.

Ans X" 1. Entomology
x 2. Paleontology
X 3. Ichthyology

J 4. Histology

Q.8 Who was appointed as the director of Bhabha Atomic Research Centre (BARC) for a
period of three years in March 2019?

Ans x 1. Vishvapavan Pati
x 2. Satyajeet Rajan
J 3. Ajit Kumar Mohanty

75 4. Kamlesh Nilkanth Vyas

Q.9 Government of India nominated member of NITI Aayog, to head the Food and
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Agricultural Organisation (FAO) in March 2019.
Ans X" 1 Binay Ranjan Sen

( 2. Ramesh Chand
75 3.VKPaul

75 4. Amitabh Kant

Q.10 In March 2019, the government of India appointed as the director-general of
the National Archives of India.

Ans  off 1. PV Ramesh
/5 2. VKPaul

x 3. Binay Sen
x 4. Kamlesh Vyas

Q.11 In March 2019, India won five silver medals at the Makran Cup Boxing Tournament in
Iran. Who among the following is NOT one of the silver medallists?

Ans X" 1. Manish Kaushik
7% 2. Duryodhan Singh Negi
/X 3.P Lalitha Prasad

J 4. Deepak Singh

Q.12 Rust needs three components to occur, i.e.,

Ans X' 1. Steel, iron and oxygen

x 2. Helium, hydrogen and nitrogen
X 3. Iron, nitrogen and moisture

J 4. Iron, oxygen and moisture

Q.13 Who founded the Sayyid dynasty?
Ans X" 1. Bahlul Khan

X 2. Nizam Shah
o 3. Khizr Khan

x 4. Muhammad-bin-Farid
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Q.14 was observed nationwide from 24th to 30th April, 2019.
Ans x 1. World Tourism Week

J 2. World Immunization Week
x 3. World Environment Week

75 4. World Postal Week

Q.15 Which of the following articles promotes equal justice and free legal aid for all the
citizens?

Ans  of 1 307

X 2.43A
75 3.32A
/X 4.48A

Q.16 Which of the following passes connects Tawang with Lhasa?
Ans f 1. Bum La Pass

x 2. Chankan Pass

x 3. Hpungan Pass
x 4. Kumjawng Pass

Q.17 created history in its second Twenty20 International against Ireland by
achieving the highest ever T20 total at the Rajiv Gandhi International Cricket Stadium
in Dehradun, Uttarakhand.

Ans X" 1 Pakistan
x 2. Australia

o 3. Afghanistan

X 4.India

Q.18 Majuli, the largest river island in the world is located in
Ans x 1. Uttar Pradesh

X 2. Nagaland
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#% 3. Arunachal Pradesh

« 4. Assam

Q.19 The invasion of Delhi by Timur in A.D marked the end of the Tughlaq empire.
Ans & 11452

/< 2.1645
X 3.1215
o 4 1398

Q.20 is a scientific discipline concerned with the study of plant pollen, spores, and
certain microscopic planktonic organisms, in both, living and fossil form.

Ans x 1. Ethnobotany

x 2. Dendrology

x 3. Paleobotany

( 4. Palynology

Q.21 Poush Mela displays local artisians displaying folk dances, music, food and culture of

Ans x 1. Gujarat
x 2. Uttarakhand
x 3. Rajasthan

« 4. West Bengal

Q.22 is the branch of zoology concerned with the study of amphibians.
Ans X" 1. Ethology

X 2. Morphology
X 3. Mammology

( 4. Herpetology

Q.23 in Himachal Pradesh is a famous tourist attraction.
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Ans ( 1. Rohtang Pass
X 2. Chang-La Pass

75 3. Aghil Pass

X 4. Mintaka Pass

Q.24 Who among the following was one of the Governors during the reign of Alauddin
Khilji?

Ans  off 1. Ghiyasuddin Tughlaq
/< 2. Shams-ud-din litutmish
75 3. Jalal-ud-din Khilji

75 4. Nasiruddin Mahmud

Q.25 Which of the following passes is known as the gateway connecting Jammu and
Srinagar?

Ans X' 1. Chang-La Pass
( 2. Banihal Pass
75 3. Aghil Pass

X 4. Lanak-La Pass
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Section : English Comprehension

Q.1 In the sentence identify the segment which contains the grammatical error.

The street artist Satish Munjal has been painting this wall since the past one week.

Ans  of 1 since the past one week

X 2. has been painting

25 3. this wall

X 4. The street artist
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Q.2 Select the wrongly spelt word.
Ans x 1. measure

x 2. meadow

J 3. megre
x 4. matter

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The Head has been so busy to go through these files and resolve the matter.
Ans x 1. No improvement

( 2. too busy to go through
x 3. too so busy to go through

x 4. such busy to go through

Q.4 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Canada accounts for nearly one-third of the world's production of news print.

B. Forest products, therefore, have been important export items of Canada for more
than a century.

C. A large part of Canada is covered with coniferous trees.

D. Pulp and paper are the two most important forest products.

Ans X" 1 ABCD

o 2.ceDA
75 3.DCAB

/X 4.BACD

Q.5 Select the antonym of the given word.

FINITE
Ans " 1. limited

#< 2. finished
J 3. endless
x 4. bound
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Q.6 Select the antonym of the given word.

REPRIMAND
Ans J 1. compliment

X 2. apprehend

x 3. blame

X 4. reproach

Q.7 Select the correct active form of the given sentence.

The wall of this park is being painted by children.
Ans x 1. The wall is painting children of this park.

( 2. Children are painting the wall of this park.
x 3. Children have been painting the wall of this park.

x 4. Children painted the wall of this park.

Q.8 Select the most appropriate meaning of the given idiom.

Lead someone by the nose

Ans x 1. to quarrel with someone
J 2. to dominate someone
x 3. to do the right thing

x 4. to force someone to take the blame

Q.9 Select the word which means the same as the group of words given.

Persons living at the same time

Ans J 1. contemporaries
X 2. compatriots

x 3. colleagues

x 4. cosmopolitans

Q.10 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. In China, thousands of people celebrated it.
B. The Lunar New Year of the Pig began on 5th February.
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C. Others burned the first joss sticks of the year to bring them good fortune.
D. Some performers re-enacted historical ceremonies.

Ans 5 1. BDCA
/5 2.DABC
o 3.BADC
75 4.ABCD

Q.11 Select the most appropriate option to fill in the blank.

In many countries the in pay for men and women is quite common, for
example, in Germany women are paid 21 per cent less as compared to men.

Ans X" 1 equivalence
x 2. disagreement

75 3. unlikeliness

( 4. disparity

Q.12 Select the synonym of the given word.

DUBIOUS
Ans x 1. certain

x 2. steady
x 3. loyal
o 4. fishy

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

You won't tell the secret, won't you?
Ans X" 1 isn'tit
x 2. would you

x 3. No improvement

( 4. will you

Q.14 Select the wrongly spelt word.
Ans X" 1. remonstrate

x 2. rendezvous
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X 3. remuneration

J 4. renassaince

Q.15 Select the synonym of the given word.

Ans

ENTICE

x 1. enrage
o 2. entrap
x 3. ensue
/X 4. entail

Q.16

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.

SubQuestion No : 16
Select the most appropriate option for blank No. 1.

Ans X" 1. generated
x 2. made
J 3. caused
X 4. began
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 17
Q.17 Select the most appropriate option for blank No. 2.
Ans x 1. Into

X 2. At
W 3
X4.0n
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Q.18

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.

SubQuestion No : 18
Select the most appropriate option for blank No. 3.

Ans X 1. broadly
#< 2. chiefly
( 3. generally
< 4. finally
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 4.
Ans X 1. belonged
x 2. bound
( 3. confined
x 4. reatrained
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 5.
Ans X 1. what
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< 2. whom
X 3. who
o 4. which

Q.21 Select the correct passive form of the given sentence.

Take this suitcase upstairs.
Ans J 1. This suitcase should be taken upstairs.

X 2. You are requested to take this suitcase upstairs.
x 3. Let this suitcase been taken upstairs.

x 4. You must be taking this suitcase upstairs.

Q.22 Select the most appropriate meaning of the given idiom.

Couch potato

Ans J 1. a person who watches too much television
x 2. a person who is simple in nature
x 3. a person who sleeps all day

x 4. a person who remains relaxed and calm

Q.23 In the sentence identify the segment which contains the grammatical error.

| know the cobbler which mends the shoes outside the gate of our colony.

Ans x 1. | know the cobbler
J 2. which mends
x 3. the shoes
x 4. outside the gate

Q.24 Select the most appropriate option to fill in the blank.

Catholics and Protestants have a long history of in Northern Ireland but
volunteers from both communities came together to build the monument of Peace.

Ans X" 1 contest

x 2. agreement

x 3. truce
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of 4. conflict

Q.25 Select the word which means the same as the group of words given.

Someone who believes that people cannot change the way events will happen
Ans x 1. seer

X 2. fanatic
o 3. fatalist

X 4. prophet
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

Q1 Arrange the following words in a logical and meaningful order.

1. Writing

1o

Distributing
3. Publishing

4. Printing

&

Editing

Ans  o"1.1,2,3,4,5
X2 2,43 1,5
V31,5432
X4 23,451

—

[

Q.2 saleen fha carrees mover ivage of the given fige whenthe newer is placed o rhe nght af the Agure

T K
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Q.4 Lwa difsrew: positions of the same dice are thows. Which zumer =il be wothe roo I Lisat ile boctam?

T oiT
s

rx\f.-"] I"‘--i.-'"'
4 8 3.2
S '\-.\_\____.-

Q.5 maless the setin ek che reombess ars celmed in fe sane way as ars rhe combes of rhe fol ooing et
112, 1624
Ans 1. (9, 15,21)
X 2. (20, 25, 35)
v 3 (18,24, 42)
X 4. (36,48, 77)

Q.6 tekert Hazexantmmalio: uf kb e wbanassncn wlle plazzal 5 e pape el e g ldie s il complers thee
s,

o bz ol b o C

Ans  of 1. pdach
& 2. chadb
/< 3. bdecab
X 4. dbacb

Q.7 =aleet the Venn diagram that best ilustrates the relatienslup berween the following clazses.

Docross. Salarted Persens, Pareiss

Ans
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5 3.

29g

v &

Q8 P gy A & FEE § o S iy # weR b
A o T
/< 2. 9g=al

A ge-fEEr
PN r- )

Q.9 | ves of the feddomieg S letier clusners are adike w a cectain vy aud ane s dfferant. Pk the cdd oos oul.

Ans X 1. BIRD
< 2. DECK
v 3. ZOOM
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< 4 PAST

Q.10 FTOSTER & codkd i 592711 awd DARE §5 codad a3 3647, then bow will STROKE b coded 337

Ans

W 1. 234971
X 2. 493287
< 3320417
X 4. 234917

Q1 A auare paper 65 felded asd cut s abown bebow, How will it appear wien undolded?

Ans

N
Ny
v °o
< o
oo 4q
q o
o
X 2
c:o >
<] o
o
v 3
o
2 >
d 0
< 4 o Oo
) ° <4

E‘ =
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Q12 galect the figure that will come next in the following figure series.

Ans
Ko
- K
8]
v
X e
p g3
X4

Q13 Which o signs aboubd be nrerchanged i die fallowing aquation 1o make 11 coreet?

I2-6+-I2 X 6+ 6 =9
Ans  of 1. —and +

2{2. = and =

/< 3 xand+
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X4. + and +

Q.14 Tewsbadairaile ez wivas felbes il b tlecs coclisimns nomzned L wsd 10 Avsaneng e laloneanla b b e wean
ey earm i e At anance v oy ko Bar, decids adich of Sie e ancfreicas inmely dolloos sy i the
AP LANLTS.

e Lo ML 1o
Fatnw alabasls i plip s,

Sl T LETOR 90 il

A mnrindsne:
L Sup=znecen: ore arhl=ies
0O Scoee phsos dne shod s,

[ B T T S TR TR T 1]

Ans X 1. Only conclusion I follows
/< 2. Only conclusions II and III follow
+ 3. Only conclusion IT and either conclusion I or III follow

/< 4. None of the conclusions follows

Q.15 Hcbizl i iplionnal ke nzhiosd ke e thicl fetlar=chasker in e zine v aanthc sansend Lioadinde boncuiil o e Ged

I®iiar coasoes

LR LKL - S

Ans X 1. MRQV
« 2. NRQU
/< 3. NQRU
X 4. ORQT

Q.16
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How many triangles are there in the following figure?

Ans x1. 11
X212
v 15
<413

Q.17 thzmazal e ke e G noee b ae alibe ora covain eze aelme soliffieze . ek e =mdnathel s o Tored

I TH TR TR T

Ans X 1. 341
X2 132
v 3 166
< 4209

Q.18 Hluad e serhergraie inew sl S beoonnenlee e webbsbinihe canas e aes e b anokosenl e Gl g

[ T

i
Ans  of 116136
X2 36:78
X312:28
K 4 48:08

Q.19
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Select the option in which the given figure is embedded.

Ans
r 0 F $ ;
~ 2. ; %
?{ 4. @
Q.20 AL cliiialaiianzi A @ v snl L I in sadia s il sy v g as anmsont ool bl

recaved b s pean A one bey eomkiced azd il svers ren e ore i 7 bt sones die anseen pecEed oy b

WAL B e Bl pesedod vescinil By § wenmat

Ans X 1. 3300
< 2. 3380
Vv 3. 3400
< 43240
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Q.21  phresof rhe fallomisg fourwands ars aldoe imoa cerain waz and ans is differser. Pick the o34 weand oor.

Ans 3" 1. Papaya
v 2. Cucumber
/< 3. Pomegranate

X 4. Guava

Q.22 (i Borily el cigl s, fonz e wes st caal bav e ool O o Trans tocein hoadhee, The seho ol
C iz mamesd b G, win ik auerod T e coochier, 11015 Z2mied mp 2, dee bectherod A O e peobere E IL Do iz e
il w0

Ans 3 1. Nephew
/< 2. Father
« 3. Uncle
#< 4. Brother

Q23 wwhich mumber will replace the question mack (7} in the following series?

2. 36, 00 17,287
Ans X 1. 45
V2 46
<343
X 4 39

Q.24 mucie sanquease, TS HIGT Beetillon e SEHIERCE0 ) i i RO IR W UM AT S vl wo in il e

Ans  of 1. ANPLVNSN
< 2. ANPLXPSL
< 3. CPNIXPSL
< 4. ANPLXNNS

Q.25
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“elecr the 522 inwhich e mumders 2ce related i che same ez as are rhe ceoabecs of e Eallosing 5o
115, 2251
Ans X 1. (11, 18, 29)
V2 (7,14, 23)
X 3. (5. 11, 20)
X 4. (23, 30, 40)
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Section : Quantitative Aptitude

Q1 = et a3 e et re = D ad e = P10 B the mlue of et 4+ v 4 2 s
Ans X 1. 942

< 2948

V'3 1009

X 4999

Q.2  AlIneis wies In:-\.l_lm:l:;. Al A abeeoe e pwal pries, B lbe 08l e pereale s The neachaz] v sonl Thes ned, Ja:
salls e aliznag 4 06 dis0 o0 on e ke prack [Le secoaulge soodn

Ans. X1 23.4
<2244
'3 232
X4 242
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Q.3 Tluichk: deees e pasies ool B Fenni e ez nleas Snlleazaki

-1 11 .3 1 {3
ey |
.

a ul
. TR L) I| !h

Uha el goncnctican e sl bope o izes Snanapd Dupze W0 Tt 2 edial gaacand Losa oanile: el prelation o700 1y
o e DAY

Ans x1. 42
K2 258
X 3 26.7
v 4 40

L

-
s
r
i
&
g

Q4 ihe vl e mesallie ipe o798 me g eczeasl s Dneae! vk see o e and 1 ses neqrestivele 101 o ol

the msrl welgh 75 2 tbecsibe ezt cCthe cipe I I'In-:r'-'-?l
Ans 1. 70.14 kg

v 2 71.28kg

X3 72.82keg

X 4. 69.68 kg

Q.5  fiazimhe sillore TR0 s parlb kg whine 47 4 peinden e miner ez AL Shsl i b maennenl
A ADET

Ans XL 150°
v 2 120°
< 31100
< 4. 100°

Q6 rra4: + 3+ 6k —2xv+9 =0, then the valne of (423 — 3% + x%v3) iz
Ans x1._g

&K 29

30

K4 =3
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Q.7

Ans

< 1. AABC = ADCB
#< 2. AAEB = ADFC
v 3 AADC = AABD
# 4 AAOE = ADOF

AUIH e Tebanm o whesboaliapmel A2l 00 iclzact Al 0L S F i UE ane pagaeiiznlaeoe T Bl
L. pecgraciveby. Winzho ot the folcwnz s 01 mee?

Q.8

Ans

If opst &

cor! P—post O

<1243

N
s G

X
5

=3,0°< @ = 90°% then the value of cot & + cozec @ js;

Q.9 Theverices ot & BQR e oi 2 cocle with ceming O 5K 05 a Tangem oo the crzle o e point R IR blseets e
s L | TR 1T NPT YTl tHE L o

Ans x 1. 40°
X 2. 30°
X 3. 60°
v 4 450
Q.10 | w arbaler o the pranbociion e Bl e of zans i il secal s
I""n'.-'=i-'| [zl [miz min (A
i 2
N i T F] ]
i ¢ — ;o a—
TN CFR L .
el s e ol ol ihs LAl provchied saan ol Iy Foovrs G0 M0l e T card o Ml Gben egrether s dhe: helsd
pritechaeticer ok oy T ears i 200 12 pod T T2 cens a0 200 3 taken sogerien?
Ans X'1.0:8

e uEs
v310:7
X4 l1l:5
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Q. 'lh-:vﬂun:nf; af {l ¥ : of 1} 7 {H- A : ) HI af ::I of (: ; j' ke : of *-:|i3:

r
X 2
X =

125

vl

9

Ans 1
25
20
9

Q.12 Tleztadike slezea the procake o ol A0z od peed ol cans e lacsalia.

Plez il praeliacine o7byre Focae 0 D002 el S0UE S agguninedadp wdhal ponasabasias S e cedras: prshiacine o7
RO R EE B TH T RETERL TR ae Bl IR LI

Ans X' 1. 56.4
X2 522
< 3 538
4 552

Q.13 In A AHC nih sdes Gom T om e 3 0 s gl esssinn on e omen argls dnndes the cpoe i 5ide g T
aspmmanld Wlhal i b fespiloaihe dlasrer +\.'£IIII:'|':'

Ans 48
\/ 1..— ¢cm
13

X2 ?cm

X 3 ?cm

; 56
x4. E cm

Q.14 Theelisiamiaanla, Dol © o i ek 5050 B W sing hgraiban ey sen wamglats g vaak s 3mlas, i
s b s T 20 disd Thee ieiseinbis vk ] De il g O el

Ans 1. 36 days
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/< 2. 32 days
/< 3. 30 days
4 40 days

15 1y +y = 12 and ¥y = 27,% > ¥, then the value of (x® — ¥%) is:
Ans  of 1702

< 2 710

X3 724

K4 720

Q.16 e fivlane e st slalinees & so F i G000 ko, 0 indn Sosdaeta T A sl =uinsies lseanis 10 0 kel aed

Acrthesr tracs % names o B acd mevves poerands Qo S0 Bms Eloee far drecs Jowils thisy cooes 220k oclier?

Ans  of 1. 320 km
< 2 300 km
# 3. 380 km
& 4 360 km

Q.17 Irab digs musbsr 3700150 b divas e b B5, thean e valns of {da = 37 tor the sz lest poetihle vakze ob v 1S

Ans X111
X 2 3]
Wi —|
X 4 20

Q.18  Theaveapeul Itz e leers s 35, Tlee devrane ol e Teg R imnekeoa i 43 sand et ef e bed Ces iz g
e A Tl 5 vl rhez 5 b v 2 o petivedy 4 and S nere dran e 7 ircnbos W is da aies ofihe 37
b T pranoh st

= A 435
K2 44.5
<3 44
v 4 43
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Q.19 Tl alin [ RTEN TRCTE RETECEETI BT RO T 8 N | TSR PR | BRI HTRLCH B EEE O EUR B S PR U TR RTER | Y
woral te Hi pozann o el

Ans X 1. 52
< 2 48
X3 49
v 51

Q.20 oy i3 s comzens Lootcem on e mom of TLERD0 ot L4%5 p e 27 eecs whiane the rterect 15 cocpousdsd yeady?
Tocanel ka1 =

Ans X 1. 34,439
W 2 34,296
X 3 34,394
X 434,259

Q.21 ehen Bopoie ol s il see peldieced s 2000 then il sle insreazed by 2% O Iiere G mazessar of @I iy
e g althe reve e then fra valoe o i3,

Ans X1. 20
<2120
X 3 96
v 4 100

Q.22 ikl sl bz prchn s Dbl BppezearCie Jin Genzaaia

I 1ha hern 2lene:] o =2 prodoesion o Tops T encs §s e2peesoatiod by L pie 2had ihen hiz cecmal angle eF i soomwr
repceseming the cooduclios of cors o 200D will oe:

Ans X‘]. g40°
&2 77°
~ 3. 750
v 4 60°
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Q23 1fsin@ = 4 cos @, then what is the value of sin8 cos 8 ?
Ans

S

X

Wb :l‘h B w El“’

Q.24  Aba boreby eep actizles Ao TId Jle rodd oie afa sfns ol 19% and woe octier an 2 poacrt of 4% 08 ibe seding plce =
bz ki i cirioles s . b the dibteoenes Commee thel oost ankeas (L2 T 2

Ans 1. 89 64

X 2. 88.84
< 3. 89.68
W 4 87.36
Q.25 :
Leto = &amﬂb = ;_.Thenaz b, ifc=2
1+sin x+cosx 1+sin x

Ans o 1 1+ sinx — cosx

<2 1—sinxcosx
/<3 14 cosx—sinx

/A 4 14 sinxcosx

Section : English Comprehension

Q.1 In the sentence identify the segment which contains the grammatical error.

The street artist Satish Munjal has been painting this wall since the past one week.

Ans  of 1 since the past one week

x 2. has been painting

25 3. this wall

X 4. The street artist
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Q.2 Select the wrongly spelt word.
Ans x 1. measure

x 2. meadow

J 3. megre
x 4. matter

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The Head has been so busy to go through these files and resolve the matter.
Ans x 1. No improvement

( 2. too busy to go through
x 3. too so busy to go through

x 4. such busy to go through

Q.4 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. Canada accounts for nearly one-third of the world's production of news print.

B. Forest products, therefore, have been important export items of Canada for more
than a century.

C. A large part of Canada is covered with coniferous trees.

D. Pulp and paper are the two most important forest products.

Ans X" 1 ABCD

o 2.ceDA
75 3.DCAB

/X 4.BACD

Q.5 Select the antonym of the given word.

FINITE
Ans " 1. limited

#< 2. finished
J 3. endless
x 4. bound
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Q.6 Select the antonym of the given word.

REPRIMAND
Ans J 1. compliment

X 2. apprehend

x 3. blame

X 4. reproach

Q.7 Select the correct active form of the given sentence.

The wall of this park is being painted by children.
Ans x 1. The wall is painting children of this park.

( 2. Children are painting the wall of this park.
x 3. Children have been painting the wall of this park.

x 4. Children painted the wall of this park.

Q.8 Select the most appropriate meaning of the given idiom.

Lead someone by the nose

Ans x 1. to quarrel with someone
J 2. to dominate someone
x 3. to do the right thing

x 4. to force someone to take the blame

Q.9 Select the word which means the same as the group of words given.

Persons living at the same time

Ans J 1. contemporaries
X 2. compatriots

x 3. colleagues

x 4. cosmopolitans

Q.10 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. In China, thousands of people celebrated it.
B. The Lunar New Year of the Pig began on 5th February.
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C. Others burned the first joss sticks of the year to bring them good fortune.
D. Some performers re-enacted historical ceremonies.

Ans 5 1. BDCA
/5 2.DABC
o 3.BADC
75 4.ABCD

Q.11 Select the most appropriate option to fill in the blank.

In many countries the in pay for men and women is quite common, for
example, in Germany women are paid 21 per cent less as compared to men.

Ans X" 1 equivalence
x 2. disagreement

75 3. unlikeliness

( 4. disparity

Q.12 Select the synonym of the given word.

DUBIOUS
Ans x 1. certain

x 2. steady
x 3. loyal
o 4. fishy

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

You won't tell the secret, won't you?
Ans X" 1 isn'tit
x 2. would you

x 3. No improvement

( 4. will you

Q.14 Select the wrongly spelt word.
Ans X" 1. remonstrate

x 2. rendezvous
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X 3. remuneration

J 4. renassaince

Q.15 Select the synonym of the given word.

Ans

ENTICE

x 1. enrage
o 2. entrap
x 3. ensue
/X 4. entail

Q.16

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.

SubQuestion No : 16
Select the most appropriate option for blank No. 1.

Ans X" 1. generated
x 2. made
J 3. caused
X 4. began
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 17
Q.17 Select the most appropriate option for blank No. 2.
Ans x 1. Into

X 2. At
W 3
X4.0n
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Q.18

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.

SubQuestion No : 18
Select the most appropriate option for blank No. 3.

Ans X 1. broadly
#< 2. chiefly
( 3. generally
< 4. finally
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 19
Q.19 Select the most appropriate option for blank No. 4.
Ans X 1. belonged
x 2. bound
( 3. confined
x 4. reatrained
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.
In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations were
(3) not involved and the casualties were mostly (4) to the warring armies. The
war (5) began in 1914 was a total war in which all the resources of the warring states
were mobilized.
SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 5.
Ans X 1. what
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< 2. whom
X 3. who
o 4. which

Q.21 Select the correct passive form of the given sentence.

Take this suitcase upstairs.
Ans J 1. This suitcase should be taken upstairs.

X 2. You are requested to take this suitcase upstairs.
x 3. Let this suitcase been taken upstairs.

x 4. You must be taking this suitcase upstairs.

Q.22 Select the most appropriate meaning of the given idiom.

Couch potato

Ans J 1. a person who watches too much television
x 2. a person who is simple in nature
x 3. a person who sleeps all day

x 4. a person who remains relaxed and calm

Q.23 In the sentence identify the segment which contains the grammatical error.

| know the cobbler which mends the shoes outside the gate of our colony.

Ans x 1. | know the cobbler
J 2. which mends
x 3. the shoes
x 4. outside the gate

Q.24 Select the most appropriate option to fill in the blank.

Catholics and Protestants have a long history of in Northern Ireland but
volunteers from both communities came together to build the monument of Peace.

Ans X" 1 contest

x 2. agreement

x 3. truce
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of 4. conflict

Q.25 Select the word which means the same as the group of words given.

Someone who believes that people cannot change the way events will happen
Ans x 1. seer

X 2. fanatic
o 3. fatalist

X 4. prophet
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Q.1 Minimum Support Price (MSP) is recommended by .
Ans X" 1. The Food Safety and Standards Authority of India

x 2. The Farmers' Welfare Society
J 3. The Commission for Agricultural Costs and Prices

X 4. The Commission for Weights and Measures

Question ID : 98958014277
Status : Answered
Chosen Option : 1

Q.2 The Indian Passport was ranked in the 'Global Passport Index Report 2019'.
Ans  of 1 67th

75 2.65th
/X 3.56th
75 4.77th

Question ID : 98958014296
Status : Answered
Chosen Option : 1

Q.3 is the oldest golf course outside the United Kingdom.
Ans  of 1 Royal Calcutta Golf Club, Kolkata

x 2. Royal Springs Golf Course, Srinagar
X 3. Tollygunge Golf Club, Kolkata

75 4. Classic Golf Resort, New Delhi

Question ID : 98958014295
Status : Answered
Chosen Option : 1
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Q.4 Ricket' is a disease associated with the deficiency of
Ans X" 1. Vitamin A

#< 2. Vitamin C
o 3. Vitamin D

#< 4. Vitamin B

Question ID : 98958014280
Status : Answered
Chosen Option : 3

Q.5 Who amongst the following succeeded the Mughal throne in the year 15567
Ans X" 1. Shah Jahan

75 2. Sher Shah Suri

o 3. Akbar

x 4. Jehangir

Question ID : 98958014287
Status : Not Answered
Chosen Option : --

Q.6 What is India's rank in 2019 World Happiness Report?
Ans X" 1. 160th

75 2.150th
o 3. 140th
/X 4.130th

Question ID : 98958014298
Status : Answered
Chosen Option : 4

Q.7 Which of the following is NOT a vocal form of Hindustani classical music?
Ans x 1. Tarana

o 2. Pakhawaj

x 3. Dhamar

X 4. Drupad

Question ID : 98958014275
Status : Answered
Chosen Option : 3

Q.8 The Pradhan Mantri Shram Yogi Mandhan Yojana was launched by .
Ans J 1. Narendra Modi

25 2. Smriti Zubin Irani

X 3. Arun Jaitley
75 4. Ram Nath Kovind

[ Question ID : 98958014297
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Status : Answered
Chosen Option : 1

Q.9 The highest railway station in India is located in the state of _____
Ans X 1. sikkim

x 2. Jammu & Kashmir

J 3. West Bengal

x 4. Uttar Pradesh

Question ID : 98958014284
Status : Answered
Chosen Option : 2

Q.10 During photosynthesis, green plants use energy from sunlight to synthesise
from carbon dioxide and water.

Ans X" 1. sucrose

x 2. fructose

x 3. galactose

J 4. glucose

Question ID : 98958014281
Status : Answered
Chosen Option : 3

Q.11 Varkala, Chowara, Chavakkad and Nattika are beaches in the state of
Ans X" 1. Tamil Nadu

x 2. Karnataka

x 3. Maharashtra

J 4. Kerala

Question ID : 98958014283
Status : Not Answered
Chosen Option : --

Q.12 is the largest river island in the world.
Ans  of 1 Majuli

x 2. Munroe

x 3. Bahvani
x 4. Umananda

Question ID : 98958014285
Status : Answered
Chosen Option : 1

Q.13 Who was the first woman judge of the Delhi High Court?
Ans X 1. Ruma Pal

{ 2. Leila Seth
x 3. Anna Chandi
x 4. Sujata Manohar
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Question ID : 98958014291
Status : Answered
Chosen Option : 4

Q.14 The was a group of seven Members of Parliament from the United Kingdom,

Ans

constituted to suggest constitutional reforms for British India.

x 1. Hunter Commission
X 2. Fraser Commission
J 3. Simon Commission

X 4. Sargent Commission

Question ID : 98958014289
Status : Answered
Chosen Option : 1

Q.15 Which of the following is NOT a symptom of Wilson's disease?

Ans

x 1. Problems with speech, swallowing or physical coordination

x 2. Fluid build-up in the legs or abdomen

o 3. Night blindness

x 4. Uncontrolled movements or muscle stiffness

Question ID : 98958014278
Status : Answered
Chosen Option : 3

Q.16 The Khajuraho Temples are located in the state of

Ans

#< 1. Andhra Pradesh
x 2. Uttar Pradesh
o 3. Madhya Pradesh

x 4. Uttarakhand

Question ID : 98958014274
Status : Answered
Chosen Option : 3

Q.17 Bariatric surgery makes changes to a person's

Ans

J 1. digestive system
X 2. heart

x 3. nasal passage

x 4. lungs

Question ID : 98958014279
Status : Answered
Chosen Option : 1

Q.18 Which of the following acid found in Apple?

Ans

o 1. Malic Acid

x 2. Formic Acid
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£% 3. Nitric Acid

/< 4. Sulphuric Acid

Question ID : 98958014282
Status : Answered
Chosen Option : 1

Q.19 Article of the Constitution of India gives the Election Commission the power to
supervise elections to the Parliament and state legislatures.

Ans X' 1314

/X 2.341
o 3.324
X 4.342

Question ID : 98958014292
Status : Answered
Chosen Option : 2

Q.20 The Banking Regulation Act was passed in India in .
Ans  of 1 1949

#< 2.1965
/X 3.1951
/< 41974

Question ID : 98958014276
Status : Answered
Chosen Option : 1

Q.21 Which one of the following was NOT a condition laid down in the Gandhi-Irwin Pact?

Ans x 1. Removal of salt tax; allowing to produce, trade and sell legally

x 2. Participation in the Round Table Conference by the Indian National Congress

J 3. Withdrawal of tax on khadi production

x 4. The Indian National Congress should stop the civil disobedience movement

Question ID : 98958014288
Status : Answered
Chosen Option : 2

Q.22 is the oldest member of the 16th Lok Sabha.
Ans X" 1. Ram Jethmalani

x 2. Murli Manohar Joshi
< 3. Farooq Abdullah

o 4. Lal Krishna Advani

Question ID : 98958014290
Status : Not Answered
Chosen Option : --

Q.23 was the first and only Muslim woman to ever sit on the throne of Delhi.
Ans
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£% 1. Fatima Al Fihri
« 2. Razia Begum
75 3. Shajarat Al Durr
X 4. Gevher Sultan

Question ID : 98958014286
Status : Answered
Chosen Option : 2

Q.24 The National Board for Micro, Small and Medium Enterprises meets once every
months in a year.

Ans X 10
X 2.3
o 36
K42

Question ID : 98958014293
Status : Answered
Chosen Option : 3

Q.25 Who became the first Indian golfer to win on the 'Ladies European Tour' in 20167
Ans  of 1 Aditi Ashok

#< 2. Diksha Dagar
x 3. Vani Kapoor

x 4. Gursimar Badwal

Question ID : 98958014294
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude
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Ans X 1. 24.8
<2256
<3234
v 222

Question ID : 98958013273
Status : Answered
Chosen Option : 4

Q.2
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Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

We had never seen so strong blizzard. The wind speed was 130 km per hour .

Ans ( 1. such a strong blizzard
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#% 2. such strong a blizzard
X 3. no improvement

x 4. so strong the blizzard

Question ID : 98958012543
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Canada is three times the size of India (1) its population is only about 26 million. The
average (2) of population is less than three persons per square kilometer (3)

Canada. The distribution of population is highly (4) . Nearly 80 per cent of the people
(5) in a narrow belt less than 300 kilometer wide along the southern border. The rest of
the country has a very sparse population due to excessive cold.

SubQuestion No : 2
Q.2 Select the most appropriate option for blank No. 1.

Ans X 1.s0
W 2. but
X 3. until

x 4. because

Question ID : 98958012545
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Canada is three times the size of India (1) its population is only about 26 million. The
average (2) of population is less than three persons per square kilometer (3)
Canada. The distribution of population is highly (4) . Nearly 80 per cent of the people
(5) in a narrow belt less than 300 kilometer wide along the southern border. The rest of
the country has a very sparse population due to excessive cold.

SubQuestion No : 3
Q.3 Select the most appropriate option for blank No. 2.

Ans (1.density

x 2. frequency

X 3. consistency

X 4. quantity

Question ID : 98958012546
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Canada is three times the size of India (1) its population is only about 26 million. The
average (2) of population is less than three persons per square kilometer (3)

Canada. The distribution of population is highly (4) . Nearly 80 per cent of the people
(5) in a narrow belt less than 300 kilometer wide along the southern border. The rest of
the country has a very sparse population due to excessive cold.
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SubQuestion No : 4
Q.4 Select the most appropriate option for blank No. 3.

Ans & 1. into
X 2.0n
o 3.
X 4 at

Question ID : 98958012547
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Canada is three times the size of India (1) its population is only about 26 million. The
average (2) of population is less than three persons per square kilometer (3)

Canada. The distribution of population is highly (4) . Nearly 80 per cent of the people
(5) in a narrow belt less than 300 kilometer wide along the southern border. The rest of
the country has a very sparse population due to excessive cold.

SubQuestion No : 5
Q.5 Select the most appropriate option for blank No. 4.

Ans & 1_differing

X 2. infrequent
( 3. uneven
X 4. rough

Question ID : 98958012548
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Canada is three times the size of India (1) its population is only about 26 million. The
average (2) of population is less than three persons per square kilometer (3)

Canada. The distribution of population is highly (4) . Nearly 80 per cent of the people
(5) in a narrow belt less than 300 kilometer wide along the southern border. The rest of
the country has a very sparse population due to excessive cold.

SubQuestion No : 6
Q.6 Select the most appropriate option for blank No. 5.

Ans  of 1 live
75 2. remain
/X 3. survive
75 4. subsist

Question ID : 98958012549
Status : Answered
Chosen Option : 1

Q.7 Select the word which means the same as the group of words given.

A person appointed by two parties to resolve a dispute
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Ans X 1 valuer

X 2. broker
J 3. arbitrator
X 4. auditor

Question ID : 98958012559
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate meaning of the given idiom.

out of the woods

Ans J 1. no longer in trouble
x 2. no longer famous
x 3. no longer in sight

x 4. no longer young

Question ID : 98958012556
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate option to substitute the underlined segment in the given

sentence. If no substitution is required, select No improvement.

They didn't see you, is it?
Ans X 1. wasn'tit

o 2. did they

x 3. no improvement

X 4. have they

Question ID : 98958012542
Status : Answered
Chosen Option : 2

Q.10 Select the antonym of the given word.

comic
Ans x 1. amusing

x 2. absurd

x 3. awkward

( 4. tragic

Question ID : 98958012554
Status : Answered
Chosen Option : 4

Q.11 Select the synonym of the given word.

DRAG
Ans x 1. rest

x 2. rush
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#% 3.push
o 4. pul

Question ID : 98958012552
Status : Answered
Chosen Option : 4

Q.12 Given below are four jumbled sentences. Select the option that gives their correct
order.

A. It is one of the highly developed countries of the world.

B. It stretches from the Atlantic Ocean in the east to the Pacific Ocean in the west.
C. The USA consists of 50 states including Alaska and Hawai.

D. The United States of America (USA) is the 4th largest country in the world.

Ans X" 1 CBDA

75 2.ADCB

/5 3.CBAD

o 4. DBCA

Question ID : 98958012550
Status : Answered
Chosen Option : 4

Q.13 In the sentence identify the segment which contains the grammatical error.

We will rest for sometime when we will reach the top.
Ans X" 1. We will rest

o 2. when we wil
x 3. for sometime

X 4. reach the top

Question ID : 98958012538
Status : Answered
Chosen Option : 2

Q.14 In the sentence identify the segment which contains the grammatical error.

The river Yamuna has many non-native species like goldfish that is affecting its eco-
system.

Ans x 1. has many non-native species
J 2. that is affecting
X 3. its eco-system

x 4. The river Yamuna

Question ID : 98958012539
Status : Answered
Chosen Option : 2

Q.15 Select the synonym of the given word.

ENGULF
Ans X" 1. entangle

( 2. envelop
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#% 3. enshrine

X 4. encroach

Question ID : 98958012553
Status : Answered
Chosen Option : 2

Q.16 Select the antonym of the given word.

GATHER
Ans ( 1. disperse

x 2. distract
X 3. dispute
x 4. display

Question ID : 98958012555
Status : Answered
Chosen Option : 1

Q.17 Select the wrongly spelt word.
Ans X" 1 hasty

( 2. hasitate
x 3. hazard
X 4. hazy

Question ID : 98958012560
Status : Answered
Chosen Option : 2

Q.18 Select the correct passive form of the given sentence.

Show these visitors the butterfly farm.

Ans X 1. These visitors should be showed the butterfly farm.
x 2. You must show these visitors the butterfly farm.
( 3. Let these visitors be shown the butterfly farm.

x 4. Let these visitors be showing the butterfly farm.

Question ID : 98958012540
Status : Answered
Chosen Option : 2

Q.19 Given below are four jumbled sentences. Select the option that gives their correct

order.

A. What was supposed to be a holiday of a lifetime turned into a dangerous experience

for 1,300 passengers on a cruise ship off the coast of Norway.

B. The Norwegian Government decided to evacuate the passengers with the help of

helicopters.

C. The ship broke down in rough seas and high-speed winds caused it to rock heavily

from side to side.

D. From the first 371 evacuated passengers, 17 had to be taken to hospital.

Ans X" 1. CBDA

o 2.ACBD
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/% 3.ABCD
/< 4.CABD

Question ID : 98958012551
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate meaning of the given idiom.
butterflies in the stomach
Ans x 1. being angry
x 2. being hungry
x 3. being excited

( 4. being nervous

Question ID : 98958012557
Status : Answered
Chosen Option : 4

Q.21 Select the most appropriate word to fill in the blank.

The National war memorial is
Ans  of 1 dedicated

x 2. devoted

to our Armed Forces.

x 3. honoured
x 4. inscribed

Question ID : 98958012563
Status : Answered
Chosen Option : 1

Q.22 Select the word which means the same as the group of words given.

a family of young animals
Ans X" 1 nest

J 2. brood
x 3. offspring

/5 4. clutch

Question ID : 98958012558
Status : Answered
Chosen Option : 3

Q.23 Select the wrongly spelt word.
Ans ( 1. reminascant

x 2. remembrance

X 3. remnant

X 4. remittance

Question ID : 98958012561
Status : Answered
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Chosen Option : 1

Q.24 Select the most appropriate word to fill in the blank.

A painting competition was held in the colony and Kavya was
group 3-5 years.

Ans X" 1. publicized

x 2. supposed

J 3. declared

x 4. described

winner in the age

Question ID : 98958012562
Status : Answered
Chosen Option : 3

Q.25 Select the correct active form of the given sentence.

The injured were being removed to the hospital by the police.

Ans x 1. The police removed the injured to the hospital.
x 2. The police has been removing the injured to the hospital.
J 3. The police was removing the injured to the hospital.

x 4. The injured was removing the police to the hospital.

Question ID : 98958012541
Status : Answered
Chosen Option : 2
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CGLE- Combined Graduate Level Tier-l, 2018 Examination

Section : General Intelligence and Reasoning

@1 Choose the set of numbers that is similar to the following set.

(6,9, 18)
Ans o 1. (14, 21,42)
X 2 (8, 14,24)
X 3. (10, 15, 35)
X 4. (18, 27, 56)
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X 4

Q.4 hreeof the Salloseg fourweards ars allee inoa certmin way and anez is differser. Pick the odd weard cor.

Ans X 1. Cessation
#< 2. Valediction
< 3. Closure
v 4 Intermission

Q.5 twfern e opizon ek i psliees) g0 e i) eem o e s vy g5 e second decm o oelabed o e Conl leoi

T &% Pal A ATATFE
Ans x1. FLAM
< 2 LAME
< 3. MEAL
« 4 EAML

Q.6 wkap will ke the valne of the following aquatoc o ' mems wodizion, * 1 means subiraciion. ¢ " menos
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Tiwg TL@DFd_7
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X 3 35
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# 3. SOERPANL

# 4 SOPERLAN

Q8  guleet the gure thal will come next in the following Ngure series.

B [
—

T

—
—D|
}_

Ans
i —
D_
>_
Xo| r—
J—
JF—
Xa| —>
—
—3
X4 | —
—

Q.9 | vws of the fodomisg S Lefier clusners are pdike w a cectain vy aud one s ddferanl. Fock the cdd o oul.
Ans X" 1. GKRV

75 2. UNPS
o 3. DGKL
/X 4.BFMQ
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6

1.

13

Q10 Arrange the following words in a logical and meaningful order.

Cloud

Rainbow

Devastation

Rain

Low Pressure

Flood

Ans B 1. BB 2063
X 251,2,4,6,3
7% 35.4:1,2.3%6
v4+51,4263

Q.11 scbiad e eecasicain ool tla v eonabo e relataal i fle saane ey se e e wonnbe i b Tl B ovecnd e,

Aarzar Bong
Ans  of 1. Spider : Web
< 2. Doctor : Medicine
#< 3. Mother : Son
/< 4. Reptile : Crawl

Q.12 & keier wsicn o wan Db bncadibel sinne hetcia oo mhwamee Saloat e igticks Ched vz Uiz bebbens el zan Tl ilea:

bk 1o thes ardar
& _m_leab gl alee ol

Ans X 1. bddac
< 2. bdcab
« 3 bdcba
& 4 bedba



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


[ €

Q13 How many triangles are there in the following figure?

Ans X128
X2 24
X 3. 36
V4 32
Q.14 Teosatmanmnis me Rilwe b S ek nontzonsd T ad 10, Seaomiag e ez kb, o T

ikt o 0o socoomm oo 2ol werld kromiedze, Secida wenich ot The cosclime s 0Ly Il R SO e ST
Slalemicnls:
All pards wre prafs
Sz el i poncs.
[l B D6 LH
1. Seeroe pords W 20T WeLs,
I Sirens eeclle s ke
IIL .l cols g weelic,

Ans X 1. None of the conclusions follow

< 2. Only conclusion I follows
#< 3. Only conclusion IIT follows
« 4 Only conclusion II follows

Q15 Find the next number in the given series.

3,13.31,2,91
Ans x 1. 48
< 2 69
v 57
< 4 63
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Q.16 sidac e oesher pain o Dbl B cooieaacs e bl by canse weay s ihe s mmnkaece Uil i i

leclirer.

Q.17 sl aquion it beresoed ko e hial i chedo e e sey e e ool eiee o 5 added b e

ot
CTwa 0 MWL OFF T

Ans X 1. WVXU

v 2 WVUX
X3 XWYV
X 4 VWXU

Q18 “momm’ is related to *Ceiling” in the same way as ‘Mouth™ is related 1o
Ans 1. Throat

X 2 Lip

« 3. Palate

#< 4. Teeth

Q.19 Lzwps of ke feclomisg S Leiter mumors ane sdike i certmin way 2l ons 5 ddfzraan Bick the cdé ooz ook,
Ans K 1. EFST

v 2 GHTV

/< 3. CDQR

X 4. ABOP

Q.20 | zewe b the boldomisg Sone wand padrs ane aibe in & cettaln v and ooe 1= diZferant. Fick the odd wocd mi
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Ans o 1. Garden : Ladle
/< 2. Study room : Table lamp
/< 3. Kitchen : Frying pan
# 4. Bathroom : Shower

Q21 Select the figure in which the given figure is embedded.

P9

Ans

Y &)

X4

Q.22 4 aquare paper & folded and cut as shewn bebowy, How will it appear wihen undolded?

Ans
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Q.23 Select the term that will come in the place of ?

7,11,19, 31, 2, 67
Ans x1_ 43

V2 47

K 3 5]

X 4 45

Q.24 mucncE anpaere i VERY ol 0% Ui o the aamse Danpzge b will samnoenie G | REGER 1

Ans  of i TQFDMS
X 2. MSQTFD
X 3. QFDTMS
2. TMSQFD

Q.25 Choose the Ve diagrany thar best laswares the retatonship amoeng the follewing classes:

Wioien. Enteprensis, Englnesrs

Ans

Ko




@QE
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Section : Quantitative Aptitude

Q.1 Thetahk e gt greshieiion o TdiMRnnl s ol Jochaceaicka

E T I B FE R TR T T TR

48 = i gl b
1" EL] 2B BL] fy]
=

1 £e -

L] e | -] A
L i =T 4 o 42

Thie kb poshidtion al Wee Trca in 2005wl Sopes S e 00 201 i &l praveant e e the Lfal prscidtans ol
Peme Lz i 200 3 ans 308 e In ene ceciel phacen

Ans X1, 24.8
X2 256
X3 234
v 222

Q.2
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If (1 + tan? 8) + (1 + (tan?6)™) =k, then vk =2
Ans X 1. sinBcos@
+ 2 cosecBsech
< 3. cosecBcos@
#< 4 sinBsecH

Q3 i cotZ@
The value of — — is:
sinf i1+cosecB
Ans x 1.0
v
X3 2
X4 -1

Q.4 T firealiain arcenbeer 0% B30 2 el idailile by SR b i vnlie ol (=Yt ferthz lorgosr possibibe seucnl < o

Ans (1. 5
X 2
X 3
X 4

=)

(i)

L

Q5 o 22— I AENAN | Be® ) Sav). honthe valn of (AX B + £ i

Ans (1_ "JE
<2 66
X 3 5VI§
X3

Q.6 Ine i il Cond aalics 01, T s s ez T prn al Ll kb of k=g s & med L2 en, ccimatiecly,
kel o a2 Shend e s i Cpoedne S of Q0 ITLe datmees Coreoen T il B35 = el e valie ol s ia

Ans x1. 15
V2 16
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7318
< 420

Q.7 Toeared ot ed ABC s ooe oir DF @51 stralgsr Lee peczllel 1o BC jalning dis poloes Doand E o AR aod A0
respazivel suchdhat Ao = Loa The s e anss of e trwzies Al ad AR s

Ans 9K 1. 16
K2 1:36
K31:7
vi1:49

Q.8  ihulahk e the preinelive af 2 Toned bypas ol caes o ilenzzenilag.

G Temr ANE LU ] rmod | s |any
-

=,

o 1

! I i B e
B ol ki | ] i
8 wooiE E2 5] | e
I3 Mpoxr e FER
E EL LN 2 LY I

‘122 o ok e ot procuznoes of e saes w2007 ane byoe Locres 2200 0 1o e poeal predoonon o e 2 one
rypee Faars in 203 B

Ans  of 1.4 :3
X23:4
K38:7
KX47:8

Q.9 ikl sl e prrenctinn eClitianes bypas ol s G hineeeili).

QR = 1T T T R 11 PR 1T

s "'-\.'

A Weoa e
] T T
T = | T, e |2
o (e 2 & & e
5 LN B PO R

Tt i G Codined e the prooetion of Tvps D oncs B Copoeseansd B 3 pia-glient, ro the SR gl A The s
papoeseniinz ihe produciiog of B carz m 2008 well ke

g 2 o.28
W 2 78°
K 3 720
X 4. 67.2°
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Q.10 A LintianeSing, sl 3 2 vmieas 4 e valiing il apesl o8 S, ke emesliadins, b 17 seesaeis e
I e mesrs et sienines il ppeaie Shraclizn i Tilasaseats ihenowhal wile s fon 2mdyonl e
mnan?

Ans 1. 10.5
<285
<309
v 10

Q.11 s s L s ol lerinsume 1R seommfilune S by 20% sml s s o aifa, the e
ravsenl P o oo i i

Ans x1_ 24
< 2. 30
V'3 26
< 4. 35

Q.12 A e el eetisincann el 000 s R e seves el leoe sanpnaeial sl A6 Heealel e
waar, e esand 8 nuzs od AT and a0 the end of ihe thind weer be coaared of te dest b popins TLI200 What s
(LR TRA ol Bl ol i T

Ans X1 F15.600
X 2. 316,500
X 3. T16,400
v 4 15,400

Q.13 une bz soe sorphe 2k preonl 11 Sor Fagioans anecial moonhes A caie o 8 dac o0 Sl de s ace acld ang
rene ok 10 tow T100, than whian o the 2k or 1205 ceroane Indis =oes Laeenen?

Ans " 1. Loss, 5%
X 2 Gain, 5%
< 3. Gain, 1%
o 4 Loss, 1%

Q14 Thevueof 16 < 4ofdX[3+40f (4x3(3+3))] + (2+40f8) iz

Ans
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<148
v26
<30
X416

Q.15 Thutahk e (Fe prashad s S5 s alaa i leazeme

CUNar bl s | 0E 36 |
I

Cdo ' 111 = 1

i % AT, M1 o |
] = &= |5s 0w
[ I I R T
3 e E e
E s - o I -} [¥] Fed

The w2l srodicrion 2myge 0o diLiog 2003 o 3000 s appeoninener T parcei! 208 1 s 1l peodoeras of

Ans X 1. 40%
V2 35%
X 3 38%
X 4 32%

Q.16 BuKs = cwchis quakibiban ] It wrgle P s thoes difees the snnie Bl aigale S fros mmes the acp= 0 fhe the orm
o anglas O end B s

Ans X1. 70°
X 2. 65°
X 3. 720
W 4 750

o Ifa +i = 3, then (a“ 4 ﬂ%) is equal to:
Ans X181

<277

v 47

K427

Q.18
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The aesvaae ol chesin sl e 540 The psige el e T Rann conedsers #02% anel Ladsal s sl Bosin i s
80 e Topn i FCaEe Gb e Err thr The sl robes iz & arenes wren i L1 ke ded olie geer prenbe
Lawarer tian the LI prenkes %ar s e yuepaze of 71 07 apd w1 0% e

Ans  of 1. 56
<2 54
X3 544
< 4526

Q19 prathic=2.a"4 b 1" =26 thes lbe value ol 3° | B | ¢ Zabe g
Ans X 1. 60O

X2 71

K378

v 74

Q.20 Ty AART T is a8 padal e A sueh i A8 = Bl = DO A FAD = 705 o e ez ol 28 12
Ans x 1. 70°

X 2. 80°

v s 750

X 4. 820

Q.21 I &AZE  Heml e il povnbe o side Al D LD, et o sarhoihat B2 | AE anl &1 -: L ke iaihe mdin
ool ez s ol AELEC ol sl &OkECT

Ans  X'1.0:16
v 2 9:64
<3 3:8
K481l

Q.22 1 1

(1 + 5in%8@ 1+cosec?@
Ans X 1. 5in?0
V2

< 3. cosec?@

):
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Q.23 T ks g raatain e b e sl e e Mmool & el <0ie 0 5 ne Sk op lerelleen s an esenp it e
e walrs I 35 deys 3 oan © mock rogeiber bor 20 d3vs The recaeing werswill be osaiped by A alous bn

Ans 1. 60 days

W 2. 537 days

/< 3. 50 days

/< 4. 54 days
Q.24 1’_":?1 + 1:“:."123 =4, 0% < 890 then the value of (tan B + rosec 8) iz
Ans

}{W."iﬁ

3

¥2.5"_5

3

X3.5LE

3

}'(4.5LE

2

Q.25 Tleradii Tl s

1o e bez wzcr tlas s

Ans

K1 4:5
K2 4:7
<35:9
v43:8

wek: b wess i sibieenl 40307 Wlad i Uee catie ol s e o Do s bl i diields
o ey
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